A= =x2 SN =SXEHD
M Q% S4o 50| 2=
el d8 SR =4 EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
=X 2,270,199,415 2,066,762,057 203,437,358
= 1,608,900,208
s 62,896,376
J| 43,070,989
= 555,331,842
SXZH 978,253,856 892,501,098 85,752,758
= 561,238,255
s 27,830,400
J| 845,151
& 388,340,050
=X Ao =XD|Et 115 4,325,280 7,582,291 A3,257,011
= 1,798,831
& 2,526,449
& =Xed =4 3,139,564 6,628,797 A\3,489,233
= 1,526,402
== 1,613,162
MSISX HEOHE =& 516,531 463,057 53,474
201 LEr2AH| 20,450 21,300 A850
01 AtR2elt| 20,450 21,300 A850
OARI=XAIE EOt 6,150
OMIZXBSAK MRS 23 29 2,100
OASI2ERRE 2 4,100
OAL2|=X Al JHe 8,100
202 Ot 9,000 13,500 24,500
01 =i b 9,000 13,500 24,500
OAL2I =X Al JHe 9,000
203 R =&| 40,000 40,000
03 A FRHRFXIY| 40,000 40,000
OMZIZX SEAIH F& 40,000
307 21201 ™ 355,321 322,057 33,264
05 QIZtRIE S 108,971 112,737 A3,766
OZRT Atg=X22 2E2Z 106,971
OZRT At2|=X2& J|IsEZ 2,000
11 AISISXIAIE E X 246,350 209,320 37,030
OAMBIEXA Ex0s K& 60,000
OZAE ASISXSALA QIAXIRMEH 29 76,500
OLR T AL2IZSXIAIE! XI& 4,000
OZ Rl ASIEXIDI 2 SAA MM =E 105,850
308 AXISHMSOIA 91,760 66,200 25,560
01 AXHHBAELS 91,760 66,200 25,560
QAlIZ AMEI=XD|2 MK HRMEY 43,760
OAsI=XdZE 2= K& 48,000
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A= =x2 SN =SXEHD
M =L S42 SXD|E A5
el d8 EX8E =8 EEREED
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
MNIISRME X2 (HEAY) 13,247 9,630 3,617
301 LetENZ 13,247 9,630 3,617
10 A SRS 13,247 9,630 3,617
OAZER2 B4(M8t) 11,279
OAISIERRA SAH| 1,968
MNIBEET XJAAE(=1) 400,000 600,000 200,000
= 200,000
& 200,000
308 AtXIHMSO0IH 400,000 600,000 200,000
= 200,000
= 200,000
01 AXESHBLEES 400,000 600,000 A200,000
OMEE 839 XI& 400,000
= 200,000
< 200,000
DZLHY9 MEXAY XEAI(=1) 2,209,786 5,556,110 A3,346,324
= 1,326,402
== 883,384
301 etz 2,209,786 0 2,209,786
= 1,326,402
& 883,384
01 AIBI2E X2 (FREETHA) 2,209,786 0 2,209,786
ODZLH9 L& AKX+ XA K& 2,209,786
= 1,326,402
= 883,384
SXAE &30 2SN 1,185,716 953,494 232,222
= 272,429
< 913,287
MEXIANE 28 =& 746,531 632,815 113,716
307 2I2to| A 223,200 189,528 33,672
11 A SXIAIEE X 223,200 189,528 33,672
OZERl ABIEXIAIE SAA SXI=Y 223,200
308 AtXISHMSO0IH 523,331 443,287 80,044
01 IXSHBHEELS 523,331 443,287 80,044
OAT ASIZXIAIE EEALL SEX=E 473,634
ORI A DAL KA 12,840
OAMZISXAIE SAR ASHEE Jteldl X
2 36,857
MNSISXIAE SAA GAHCIE X2 (20)(2E) 389, 185 320,679 68,506
= 272,429
& 116,756
308 AtXIHMS0I S 389,185 320,679 68,506
= 272,429
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A= =2X2 SN =SXEHD
M FOD|EMBEE
=2l MASE XN FH=X &E EEREE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
S 21,451
01 XtXIEHH A= 2 = 52,09 121,575 A\69,479
C=0AIE D152 NJ 52,096
= 30,645
& 21,451
=0l S SN (=s0AE 29 XY (HEALY) 3,171,000 3,144,000 27,000
308 XX HMSO0IA 3,171,000 3,144,000 27,000
01 XM B AE LS 3,171,000 3,144,000 27,000
O=0A4 2 X3 () 3,171,000
L=0l § SXXH(MISXNAIE Bt ~8) 4,000 4,000
201 LEr2E| 4,000 4,000
01 At2tcIH] 4,000 4,000
OL=0Ald It =% 4,000
DA Ol 22 "AH F=E(=21) 208,000 0 208,000
= 130,000
= 78,000
308 AXIHMSOIA 208,000 0 208,000
= 130,000
= 78,000
01 XM B ExR= 208,000 0 208,000
OL=AL Ol 22l MA 2= 208,000
= 130,000
S 78,000
MAS0 X (2D) 244,305,000 220,564,000 23,741,000
= 223,787,000
& 20,518,000
301 Et2 N = 244,305,000 0 244,305,000
= 223,787,000
= 20,518,000
01 MBI EHHSHS(BREXTHE) 244,305,000 0 244,305,000
OdAH=N 244,305,000
= 223,787,000
= 20,518,000
ME= = 1{CEPNL-] 405,826 327,537 78,289
308 AFXIEMSOIE 405,826 327,537 78,289
08 WS [20ICHetE X 405,826 327,537 78,289
Ou=s=0 405,826
HAZEMSO X (=1) 1,699,291 1,562,910 146,381
= 1,578,000
= 121,291
301 LEtEN = 1,699,291 0 1,699,291
= 1,578,000
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A= =2X2 SN =SXEHD
M FOD|EMBEE
Bl NASSE N2 F0sA A EEREE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
S 121,291
01 A2 A6 S(ZREETHE) 1,699,291 0 1,699,291
Odll &S KIS O 1,699,291
= 1,578,000
[ 121,291
20238 At 22l EHA WA (22)(AZ) 1,022,050 0 1,022,050
[ 1,022,080
308 AXIHHSOIA 1,022,050 0 1,022,050
= 1,022,050
01 XN B SEES 1,022,050 0 1,022,050
OAZ 250 2AC|AL 2I21] 1,022,050
[ 1,022,050
KANE=XAY 75 & &4 61,429,065 56,129,746 5,299,319
= 42,052,315
[ 12,527,909
= 6,848,841
KNSESXAEIA AH 2 HH 1,463,187 1,162,807 300,380
NESIAY gt 24 1,307,385 1,032,129 275,256
201 Zer2a| 10,790 11,620 A830
01 AlR2telbl 10,790 11,620 2830
OAtSSHHAE =8 3,290
O3 LS AAXNAHAIY =& 7,500
202 04| 5,000 5,000
01 =LHAbI 5,000 5,000
OSIY=RIXHEAIE =& 5,000
307 @120l & 470,775 430,629 40,146
10 Al S XA EEE2EHI2 X 409,775 374,629 35,146
OHATAMI=XE 22 29 226,775
oZHZEWT 2 183,000
11 MEISXAMSEE 61,000 56,000 5,000
OLH MA=IEss2=d 284 57,000
OSEARISA2 SAH HE238t WS 4,000
308 XXM SO0IH 415,820 416,880 A1,060
01 XM B EELS 415,820 416,880 A 1,060
OAlZ Al2ISXIESs 29 259,920
L0 28 16,300
OXGA2ZE AN 243t 129,600
OZEARISAI2 2832 28 XE 10,000
403 TR M SKH=0lE 405,000 168,000 237,000
01 XM= E X 405,000 168,000 237,000
OZEAI =X D158 385,000
OZ=EYW JIsEY 20,000
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A= =513 SN =XEED
Hu: (A=A 2= W A
ohel: XIA=XIAEIA o1 U 8 (ol 29l)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
MBS FIIAE =8 165,802 130,678 25,124
307 @120l & 165,802 130,678 25,124
11 MEISXAMEEE 185,802 130,678 25,124
OLATANSHE2HH 29 155,802
SXAMEIA HEHA 2835t 4,639,088 4,635,140 3,948
= 870,860
[ 2,376,928
= 1,391,300
ANz SEAtd2e X (=1) 135,000 135,000 0
[ 135,000
308 AHAIEFMISOIE 135,000 135,000 0
s 135,000
01 XN B EELS 135,000 135,000 0
OAlZ+ SeAtd2el K& 135,000
= 135,000
SHE XY SFAMHIA XA(=1) 1,291,000 1,099,560 191,440
= 1,291,000
308 NHRIEHMISOIE 1,291,000 1,099,560 191,440
s 1,291,000
01 MXHHBEx= 1,291,000 1,099,560 191,440
OsHs YEE SEMEIA NE 1,291,000
[ 1,291,000
SEAtI22IAL A8l X (21) 98,528 966, 180 17,652
= 948,528
308 NHRIEHMISOIE 948,528 966,180 A17,652
= 948,528
01 MXHHBSExS 948,528 966, 180 A17,652
OSEAtellZt2IAL 12181 X2 948,528
= 948,528
AT A2l A 29(=1) 1,935,720 1,922,000 13,720
= 859,860
[ 1,075,860
306 = 1,935,720 1,922,000 13,720
= 859,860
== 1,075,860
01 £g= 1,935,720 1,922,000 13,720
OZET AllMBIAE 2 1,935,720
= 859,860
= 1,075,860
ZEE ASIMHIAR AR 304,440 0 304,440
306 = 304,440 304,440
01 &d= 304,440 304,440
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D=2 SA =X
L YETAY PE L A
D STMEIA BSHH 285

LR
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

| oza= AslMblAE X 304,440

KSAS BREOM 2F 435 X (21) 22,000 10,000 12,000
= 11,000
= 11,000

307 QI2H0I ™ 22,000 10,000 12,000
= 11,000
o= 11,000

1 ARI=SXNAIEE X 22,000 10,000 12,000
OXIGAS SEE AN 253 K& 22,000
= 11,000
& 11,000

S&AHHIOIN 29(=21) 2,400 2,400 0
s 2,400

308 AXIHMSOI& 2,400 2,400 0
s 2,400

01 AXEHBLEES 2,400 2,400 0
O &+HEI0IN 29 2,400
s 2,400

el MHIA BIRH ALY =8 12,269,292 10,750,967 1,518,325
= 90,517
s 10,065,000
= 2,113,775

KNAXEE AMSIMBIA EXAIE (2 D) (RE) 402,143 395,000 7,143
s 281,500
< 120,643

202 044l 5,000 5,000 0
s 3,500
< 1,500

01 =UWOdbI 5,000 5,000 0
OXIGAS MEIAETIALY =& 5,000
s 3,500
< 1,500

308 AtXISHMSO0IH 397,143 390,000 7,143
s 278,000
< 119,143

11 I 2SHHEP A X LAE ARSI Y| 397,143 390,000 7,143
OZATXNGAIMEIAXAH 2 397,143
s 278,000
& 119,143

KAXEE AMSIAEIA EXAIE(ZD)(EX) 11,737,839 10,228,767 1,509,072
s 9,783,500
== 1,954,339

308 KXISHMSOIH 11,737,839 10,228,767 1,509,072
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D=2
L NYEXAY PE L A
=

©ARIMHIA BESRH ARY

= “ (o &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
[ 9,783,500
= 1,954,339
01 AXHH B EExS 11,737,839 10,228,767 1,509,072
OXS A MHIAE ALY K1 9,665,716
= 8,051,180
S 1,614,536
OJtAIREE g2 X3 1,778,093
= 1,486,000
[ 292,093
OXNHARIMEIAEXIALE 2SEH] K& 47,460
[ 40,320
= 7,140
OFHNSAHE A XIH 246,570
= 206,000
S 40,570
XNETEE AMSIMEIA XA 2 X2l (22) 129,310 127,200 2,110
= 90,517
S 38,793
307 elztold 129,310 127,200 2,110
= 90,517
= 38,793
02 2B AAHE R 129,310 127,200 2,110
OXNSABIAHIA HEHAIEE 2 129,310
= 0,517
= 38,793
golz2 Ag - X X 43,057,498 39,580,832 3,476,666
= 41,090,938
= 85,981
= 1,880,579
g & Ng=A 58 A 55,968 58,085 A2 117
308 XXM SOIA 40,968 40,585 383
01 XN B ELS 40,968 40,585 383
OXtSHALHIZIEIAL =0t HHXI 40,968
403 MR MSH=0lH 15,000 17,500 22,500
01 MHXIHHA=ZE X 15,000 17,500 A2,500
OXNS MY JsE2S At 15,000
22 2A(21) 30,999,703 31,232,268 N232,565
= 29,3%,273
= 1,643,430
308 XXM SOIE 30,999,703 31,232,268 A232,565
= 29,3%6,273
T 1,643,430
01 XM B ELS 30,999,703 31,232,268 N\232,565
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e 24 =XE
M T|o=T AR PE L A

o

&

D 2Rl g - A=

2 CEER-E)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

oxtEZ=AIY 30,999,703
= 29,356,273
= 1,643,430

KNS 29 (=20) 4,161,558 3,899,318 262,240
= 4,161,558

308 AtXIEtMSO0IN 4,161,558 3,899,318 262,240
= 4,161,558

01 IXSHHBHEES 4,161,558 3,899,318 262,240
OXIG XY 24 4,161,558
= 4,161,558

FAXEMHE2E(20)(2E) 603,938 595,557 8,381
= 422,757
o= 181,181

308 AXIEMSO0IA 603,938 595,557 8,381
= 422,757
& 181,181

11 SII2SOCHEHE A E S AL 603,938 595,557 8,381
OFIXEHH 29 603,938
= 422,757
& 181,181

KAt 22l (=) 85,981 61,452 24,529
s 85,981

308 AtXIEMSO0IA 85,981 61,452 24,529
s 85,981

01 XN BAEES 85,981 61,452 24,529
ORXHE At 2t 85,981
s 85,981

2sEUeraz N2 NN (21) 7,150,350 3,734,152 3,416,198
= 7,150,350

308 AR SO0IN 7,150,350 3,734,152 3,416,198
= 7,150,350

01 HXSHHBAEELS 7,150,350 3,734,152 3,416,198
o2ZsaU=raAHAESAIE 7,150,350
= 7,150,350

2= 0t X 328,905,958 302,222,239 26,683,719
= 197,849,597
& 131,056,361

EsMHlA Z3t 328,905,958 302,222,239 26,683,719
= 197,849,597
< 131,056, 361

EIAY S 10,800 10,800 0

201 Ler2AH| 5,400 5,400 0
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D =A= 2N - SXE

2= 0ls A&

D BEAUA 25

AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AtR2eltl 5,400 5,400 0
OEsHMUARAS 29 5,400
202 04| 5,400 5,400
01 =WO4HI 5,400 5,400
EFAY F& 5,400
28g FEREZ AH 1,175,878 1,210,728 A34,850
308 AXIHMSOI& 1,175,878 1,210,728 A34,850
01 AXIEHBALEES 1,175,878 1,210,728 A34,850
oEsg RERHZza s A& 1,175,878
SSENH0IE XA (HEAS) 4,185,635 4,185,635 0
308 AtXIEtMSO0IN 4,185,635 4,185,635
01 AXEHBLEES 4,185,635 4,185,635
O33E02I0I& X2 (Het) 4,185,635
FOISEAHEH 28 XA 75,600 84,600 9,000
308 AtXISHMSO0IH 75,600 75,600 0
01 IXSHBAEES 75,600 75,600 0
OAlZ SO0IESEXJEH 22 XA 75,600
SOISEXNAHEH 29 XA (HEAD) 638,551 632,907 5,644
307 2I2to| ™ 593,551 587,907 5,644
10 ALSISXIAEHE2IHIE X 593,551 587,907 5,644
Ok ROISEXALEH 2 X2 (XEH 593,551
308 RtXIHMSO0I A 45,000 45,000
01 AXESHNBLEERS 45,000 45,000
OAZ ROISEXNSHH IIFAs X2 (H
=) 45,000
oglold W B4\ (=21) 72,000 86,600 214,600
= 36,000
o= 36,000
307 2IZtol A 72,000 86,600 A 14,600
= 36,000
& 36,000
M AEISXAIEE X 72,000 86,600 214,600
ONE 0l wd Exus 72,000
= 36,000
& 36,000
oelold 2e=dlg KA 25,200 28,665 A\3,465
308 AtXISHMS0IH 25,200 28,6605 A3,465
01 IXSHBHEES 25,200 28,665 A3,465
ONASE Otz gstEdlg X 25,200
Hglold e XIJ 289,690 242,000 47,690
308 AXIHMSOI& 289,690 242,000 47,690
01 AXSHHBAEES 289,690 242,000 47,690
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a2 =313 2A =S E Y
A 2] 01s Y
Eel: E|MHA 238t (EEREED
A2 2N - . S(3) - NRAY - BES Ofl Aok Oﬁﬂf& HRE2
BIEEEEEEREE 269,690
ofglold sZhe X (=1) 298,053 300,289 2,236
= 198,702
=S 99,351
408 THXI SIS KH=0I & 298,053 300,289 72,236
= 198,702
= ®,351
01 MHXIHHAZE X 298,053 300,289 N2,236
OO01Z0IE &M 298,053
= 198,702
= 99,351
ofglold =& (=1) 1,211,700 2,064,213 AB52,513
= 807,800
LS 403,900
403 NRISHHSA=01H 1,211,700 2,064,213 AB52,513
= 807,800
=S 403,900
01 RIXISHM A2 2 2 1,211,700 2,064,213 A\B52,513
o=z olRI0IT =& 1,211,700
= 807,800
= 403,900
Oelold wiAE XM2oHe A& 1,361,240 1,242,880 108,360
308 AXIHHSOIA 1,351,240 1,242,880 108,360
01 MAEHBLExZ 1,351,240 1,242,880 108,360
0020l DAY MMM X 1,351,240
Olel0ld SAHA 824 M2 73,000 73,000 0
307 2I2t01 & 73,000 73,000
11 AR SXIAMHE X 73,000 73,000
ORI 28EE M2 ALY, us N 73,000
ENEEEIEICn) 105,353,588 108,959,666 3,606,078
= 84,902,000
= 20,451,583
308 AXIHHSOIA 105,353,583 108,959,666 3,606,078
= 84,902,000
= 20,451,583
01 MAEHBLExZ 105,353,588 108,959,666 3,606,078
ogRrot2xsg XI# 105,353,583
= 84,902,000
= 20,451,588
ANZHIES A A MSXIR(Z2D) 930,950 965,325 A34,375
= 704,000
= 226,950
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A= =313 SN =XEED
M 25 01S A=
&l ESMHIA 25t (chel: &)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
307 212t01& 45,000 61,500 /16,500
= 22,500
S 22,500
10 Al SXAEEE2EHI2x 45,000 61,500 /16,500
OAIZHHl S AMHIA RBXIH (Z20]2) 45,000
= 22,500
& 22,500
308 AHRIEFMISOIE 885,950 903,825 A17,875
= 681,500
= 204,450
01 X SHHBeEX= 885,950 903,825 A17,875
OAIZHH ESAHIA MSXI(MSI12) 885,950
= 681,500
= 204,450
FelE 222 X2 58,971,529 60,875,640 1,904,111
308 KtXIEMSO0IE 58,971,529 60,875,640 1,904,111
01 AXHHBSELS 58,971,529 60,875,640 A1,904,111
OFcltd E5= K& 58,971,529
g N (=1) 5,772,337 16,682,047 210,909,710
= 4,644,095
= 1,128,242
301 LPEN= 5,772,337 0 5,772,337
= 4,644,095
= 1,128,242
01 ARSI EEH LTS (FREXTHE) 5,772,337 0 5,772,337
oggssg Xd 5,772,337
= 4,644,095
S 1,128,242
2220 (o) X (2D) 57,177,334 13,143,703 44,033,631
= 46,023,000
& 11,154,334
301 LHEN= 57,177,334 0 57,177,334
= 46,023,000
= 11,154,334
01 AIZIEZ A GIZ(2REEH) 57,177,334 0 57,177,334
OR2Z0(Sot+E) N 57,177,334
= 46,023,000
= 11,154,334
HIZO0HOF gt= 258 X2 2,600 2,600 0
308 AXIHHSOIA 2,600 2,600
01 XN B SELS 2,600 2,600
oggiots gtz 258 K& 2,600
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D =A= 24 1 =XNE

2= 0ls A&
EFAMHIA 25t

LR
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
22 ZUHEH 2SX|(=1) 39,000 38,990 10
= 26,000
S 13,000
308 AXIHHSOIA 39,000 38,990 10
= 26,000
= 13,000
01 MM BExS 39,000 38,990 10
2 2UHEH 28 NE 39,000
= 26,000
(e 13,000
SAP olAHl X (2D) 55,825,100 55,315,053 510,047
= 37,743,000
= 18,082,100
308 XXM SOIE 55,825,100 55,315,053 510,047
= 37,743,000
S 18,082,100
01 MAEHBLSELS 55,825,100 55,315,063 510,047
OZEFuXE 212H| X3 55,825,100
= 37,743,000
& 18,082,100
S HRMS XF(=1) 11,227,311 32,998,278 A21,770,967
= 7,609,000
= 3,618,311
308 AR M SOIE 11,227,311 32,944,860 A21,717,549
= 7,609,000
= 3,618,311
01 XN B EEXS 1,227,311 32,944,800 A21,717,549
OEsUAE MRML X2 11,227,311
= 7,609,000
S 3,618,311
OglolE X (=1) 1,384,788 1,450,614 A65,826
= 935,000
[ 449,788
308 AFXIEHMSOIE 1,384,788 1,450,614 \65,826
= 935,000
= 449,788
01 AXSHHBeEXS 1,384,788 1,450,614 A\65,826
OoelolE X 1,384,788
= 935,000
= 449,788
olold X dxiel X 1,201,200 1,271,160 269,960
308 MR M S0IH 1,201,200 1,271,160 69,960
01 MM B ELS 1,201,200 1,271,160 69,960
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D =A= 2N - SXE

2= 0ls A&

D BEAUA 25

LR
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| oof2lold 2xoi gx2l K 1,201,200
S=MHIA EEEA IH 195,000 287,000 A92,000
308 AHXIHMSOI& 25,000 38,000 13,000
01 AXEHBAEES 25,000 38,000 13,000
PSDEY NLSADS X 25,000
403 ItXIHMSAH=01A 170,000 249,000 279,000
01 AXIHAA2ES 170,000 249,000 AT79,000
O0elold 2 K& 170,000
Helol& oHMZAl Xt X2 35,298 34,086 1,212
308 AtXIEtMSO0IA 35,298 34,086 1,212
01 AXEHBLEES 35,298 34,086 1,212
ONE0lE tEBH SHAIH 35,298
EX UMRAF XI&(=21) 20,977,576 0 20,977,576
= 14,221,000
= 6,756,576
307 2I2to| A 46,000 0 46,000
= 23,000
o= 23,000
11 A= XA E X 46,000 0 46,000
T SO0LEER2MEH CHMWAE AFY X2 46,000
= 23,000
& 23,000
308 KtXIHMSO0I A 20,931,576 0 20,931,576
= 14,198,000
= 6,733,576
01 AXSHHBLEERS 20,931,576 0 20,931,576
OE=x, HMWA XI& 20,931,576
= 14,198,000
== 6,733,576
2 M2 EX K& 405,000 0 405,000
403 KXIHMSKH=201H 405,000 405,000
01 AIXHHA=2E L 405,000 405,000
Q1A 1832 A2 &X 405,000
SMEEE S FxH 254,150,691 234,315,815 19,834,876
= 85,346,867
s 14,222,029
| 845,151
& 153,736,644
NEAM HSEH 210,535,644 197,811,576 12,724,068
= 72,405,623
& 138,130,021
MNEMUE 29 =& 8,600 7,220 1,380
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A e SN =SXEHD
M SAXBE SAXA
ol MEL HSEH (91 =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
201 &gt=2E| 6,100 4,500 1,600
01 At22teH] 6,100 4,500 1,600
OMBLY 29 6,100
202 O 2,500 2,720 A220
01 =04 2,500 2,720 N220
OMENMUE 28 =M 2,500
soplz=g A 131,120,000 114,030,000 17,090,000
201 egr=2E | 100,000 0 100,000
01 AtR2teld| 100,000 0 100,000
oOs0|lz+g E2NH 100,000
207 AIHE 120,000 120,000
01 H2ESHI 120,000 120,000
ON2xt Fobl2+g I8t 120,000
301 EtE2 NS 130,900,000 130,900,000
02 ABI2EHGZ(FAAS, NLHS) 130,900,000 130,900,000
s0l=xg 130,900,000
Ots=g 20 X=2(21) 68,284,944 70,770,729 A\2,485,785
= 62,741,873
= 5,543,071
301 2Et2N=E 68,284,944 0 68,284,944
= 62,741,873
= 5,543,071
01 MBI 2EH LTS (EREXTHE) 68,284,944 0 68,284,944
oots+¢ 20 K= 68,284,944
= 62,741,873
= 5,543,071
Hergdolgd Xd(=20) 10,984,000 12,778,000 21,794,000
= 9,644,000
[ 1,340,000
301 Et2 N = 10,984,000 0 10,984,000
= 9,644,000
= 1,340,000
01 ARSI EEHSFS (B REXTHE) 10,984,000 0 10,984,000
oxgtgoI2d K& 10,984,000
= 9,644,000
= 1,340,000
CHAHAOHY S8 30,000 30,000 0
301 EtE2 NS 30,000 0 30,000
03 AR 2 HFS(XILHE) 30,000 0 30,000
Ot H4IHe SEX3 30,000
MNELASS UERD 8835 K& 68,600 68,600 0
307 elztol 68,600 68,600 0

- 456 -




A e SN =SXEHD
M SAXBE SAXA
=2l MES HSEH (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
02 2IZHBAAHE X 68,600 68,600 0
OZ& NEM=E UESRD 243 XA 68,600
MEADBALE] CHHl R2IIAD A XIR(=1) 39,500 39,4% 4
= 19,750
& 19,750
307 2I2t01 & 39,500 39,4% 4
= 19,750
(e 19,750
11 MEISXAMSEE 39,500 39,49% 4
ONEL=S 2AHE X 39,500
= 19,750
= 19,750
OtsSs Al X 20,897,643 14,723,738 6,173,905
= 134,641
[ 12,966,669
= 7,796,333
CIetH SSdH 124l XIR(212) 2,253,075 1,086,194 1,166,881
s 1,502,050
= 751,025
308 XXM SOIA 2,253,075 1,086,194 1,166,881
[ 1,502,050
S 751,025
01 XN B EELS 2,253,075 1,086,194 1,166,881
Ot SsdH bl X 2,253,075
= 1,502,050
& 751,025
CIEN SSdH 28 N¥(=1) 360,000 72,720 287,280
[ 240,000
= 120,000
308 XM SOIE 360,000 72,720 287,280
[ 240,000
= 120,000
01 XN B EEES 360,000 72,720 287,280
OCtaH =ss4dH 244l XI& 360,000
[ 240,000
S 120,000
CHN SS4IE £X1H1 X2 (=1) 734,500 735,000 2500
[ 593,000
S 141,500
403 AXIEMSA=Z01H 734,500 735,000 A500
[ 593,000
= 141,500
01 XXX A= 2 734,500 735,000 A500
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A e SN =SXEHD
M SAXEE SAXA
=°el: OlsSESsSAHIA X EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
ottetH Ss=s4HH AXidl K& 374,500
s 293,000
= 81,500
OCtetH ==s4IH SiC=&rst &xidl XI& 360,000
s 300,000
== 60,000
CHatH S24iEe 29AI2E A& XIJ(=1) 50,768 6,690 44,078
s 33,845
& 16,923
308 AXIEMSO0IA 50,768 6,690 44,078
s 33,845
& 16,923
01 AXEHBAEES 50,768 6,690 44,078
OUENSSHH 2ZAI2 HE 14| X
& 37,643
s 25,095
= 12,548
otigtNEssdH 2EAIZE HE 24| XAl
# 13,125
s 8,750
& 4,375
CHEH SSHIE 2XIJ (KILS3HA) 180,000 205,800 A25,800
308 AEXISHM SOl & 180,000 180,000 0
01 AXEHBLEES 180,000 180,000 0
OXNZEAY 29 180,000
XSotsdE 2981 X&(=21) 2,398,500 8,348,904 25,950,404
s 1,599,000
& 799,500
308 AXIEHMSO0IA 2,398,500 8,348,904 5,950,404
s 1,599,000
& 799,500
01 AIXIHHBLEES 2,398,500 8,348,904 Ab,950,404
OXIS0tsHE Jl22Zdl XI& 2,217,000
s 1,478,000
& 739,000
OXNS0tsHH =238 K& 181,500
s 121,000
== 60,500
XAotsSHE bl XA (21) 10,339,500 0 10,339,500
s 6,893,000
& 3,446,500
308 AXIEMSO0IA 10,339,500 0 10,339,500
s 6,893,000
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A e SN =SXEHD
M SAXEE SAXA
=Pl Ols=sSAdIA X3 EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 3,446,500
01 XN B ELS 10,339,500 0 10,339,500
OXH0otsHIE l2Hl I 10,339,500
[ 6,893,000
(e 3,446,500
E4Y XY0tsHH FIXA(=1) 330,840 270,000 60,840
[ 220,560
= 110,280
308 NHAIEHMISOIE 330,840 270,000 60,840
[ 220,560
S 110,280
01 MAEHBLEES 330,840 270,000 60,840
OSs+==8¢ N& 279,000
= 186,000
& 93,000
O&EeEdg XN 51,840
[ 34,560
= 17,280
OlS=XILAL X (21D) 2,576,685 2,003,353 573,332
[ 1,717,790
S 858,8%
308 MR &M S0IH 2,576,685 2,003,353 573,332
= 1,717,790
= 858,8%
01 AN B ELS 2,576,685 2,003,353 573,332
OXHOtSHE OtsSSXIWAF XI& 2,576,685
= 1,717,790
[ 858,8%
XSotsHlE ANy 28(=21) 175,000 175,000 0
s 52,424
= 122,576
307 212tol 175,000 175,000 0
[ 52,424
S 122,576
10 Al SXAIZEE2EHI2x 175,000 175,000 0
OXIHotsHIE XA 23 175,000
= 52,424
& 122,576
XSotsHlE &2 XA (=1) 172,500 162,000 10,500
[ 115,000
= 57,500
403 MRS AH201H 172,500 162,000 10,500
[ 115,000
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A e SN =SXEHD
M SAXEE SAXA
=Pl Ols=sSAdIA X3 EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 57,500
01 AXISHHA=E X 172,500 162,000 10,500
O&ZoN&l X2 (XIXHA, HelAIL) 112,500
s 75,000
& 37,500
OZZMEHl XI&(HAAIE) 60,000
[ 40,000
= 20,000
N otsdE 2SI 1,029,393 1,561,648 N532,255
308 AR M SO0IH 858,393 1,297,448 A\439,065
01 AXHHBSELS 858,393 1,297,448 A\439,055
OXSOotSHE olAdd] =0t K& 717,263
OXNS0tsHE 28 =t X& 58,680
OXg0tsHE Sa8ges X 72,450
=OF ArHl X1 10,000
403 X EMSH=0lH 171,000 264,200 93,200
01 XM= 2L 171,000 264,200 AG3,200
OXSotsHEH JIs2d N&H 171,000
KS0tSHE SAHL WS 27,600 7,600 20,000
307 2I2t01 & 27,600 7,600 20,000
11 AR SXIAE 24 27,600 7,600 20,000
OXHOISHIE SAHAL W= 7,600
OXISotSHE =Hetord K& 20,000
StNE=H Ql2Hl X (21) 185,282 40,529 144,753
= 92,641
= 92,641
308 MR EMS0IH 185,282 40,529 144,753
= 92,641
[ 92,641
01 HXHHBSExXS 185,282 40,529 144,753
Ostu==H 2124| X3 185,282
= 92,641
= 92,641
stussH 284 XN&(F10) 84,000 22,400 61,600
= 42,000
S 42,000
308 XXM SOl 84,000 22,400 61,600
= 42,000
= 42,000
01 AXHHBELS 84,000 22,400 61,600
Ostu=8H 244l XA 84,000
= 42,000
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A e SN =SXEHD
M SAXEE SAXA
o9l OISSEAHIA X (el 28
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| | [ 42,000
OtsE2sMdIA K& 22,717,404 21,780,501 936,903
= 12,806,603
s 1,255,360
J| 845,151
& 7,810,290
230ts HUASH 6,500 2,940 3,560
201 B2 AY| 4,500 2,940 1,560
01 AtR22elt| 4,500 2,940 1,560
ootsEs gR=FA 4,500
202 04| 2,000 0 2,000
01 =WO4HI 2,000 0 2,000
O0tsEs gRFx 2,000
OlISEs Mg 29 JJA(=1) 1,358,640 1,219,824 138,816
s 1,255,360
& 103,280
101 @I244| 65,200 0 65,200
s 52,160
& 13,040
M IRIMZ2ENSES 65,200 0 65,200
O0lsEs dMEA 23 X2 65,200
s 52,160
< 13,040
308 KXIHMSOIH 1,293,440 1,219,824 73,616
s 1,203,200
== 90,240
01 HXSHHBAEELS 1,293,440 1,219,824 73,616
ootsEs dEed 23 A& 1,293,440
Ay 1,203,200
& 90,240
HE dexlgdy 29 Xa(=21) 151,870 149,500 2,370
= 75,935
= 75,935
307 21201 ™ 151,870 149,500 2,370
= 75,935
< 75,935
10 AlBISXAEHE2GHIEX 151,870 149,500 2,370
ONHE AelxlzgdHy 29 151,870
= 75,935
== 75,935
OrsS&tl MEe2)|12 8435 A (=21) 100,000 0 100,000
= 50,000
= 50,000
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A e SN =SXEHD
M SAXBE SAXA
Ciel: OlSESAHIA K (el 28
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
307 QI2Hol ™ 100,000 0 100,000
= 50,000
& 50,000
02 QIRHEAAIHE = 100,000 0 100,000
OO0tsstll MEoZJ|& 24835t At 100,000
= 50,000
& 50,000
QLESOIE 188 S NJA(=1) 1,461,341 1,008,777 452,564
= 835,052
o= 626,289
308 AXIEHMSO0IA 1,461,341 1,008,777 452,564
= 835,052
& 626,289
01 AIXIHHBALEES 1,461,341 1,008,777 452,564
ORES0s A58 29X 1,461,341
= 835,052
& 626,289
stiimloiolts &e 2 (=1) 830,135 716,208 113,927
= 474,360
= 355,775
308 AXIHMSOIE 830,135 716,208 113,927
= 474,360
= 385,775
01 XX BAEES 830,135 716,208 113,927
OostiiuloiolsaHd 249 830,135
= 474,360
& 355,775
OISESEIIIA 2E(=31) 3,754,390 4,006,812 A312,422
= 1,877,195
= 1,877,195
307 QI2H0I A 3,754,390 4,066,812 A312,422
= 1,877,195
= 1,877,195
10 AlBISXAIEHE2GHIEX 3,754,390 4,066,812 N312,422
ootsEsdz2I|2 2 3,754,390
= 1,877,195
& 1,877,195
N Meolzd gixl(=1) 361,005 294,123 66,882
= 288,804
& 72,201
307 QI2H0| A 361,005 294,123 66,882
= 283,804
= 72,201
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A e SN =SXEHD
M SAXBE SAXA
Ciel: OlSESAHIA K (el 28
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
10 AlSISXAEHE2IGHIEX 361,005 294,123 66,882
OX& X Mozl Hixl 361,005
= 288,804
= 72,201
THEXIE Al XI&(=1) 425,385 239,736 185,649
= 340,308
o= 85,077
307 QI2Ho1 ™ 425,385 239,736 185,649
= 340,308
& 85,077
10 AlRISEXAIEHE2GHIE X 425,385 239,736 185,649
OX&XI& Ard| 425,385
= 340,308
= 85,077
OtssIoE 22 430,885 552,371 A121,486
307 2I12to| A 336,445 446,931 A110,486
10 AlSIS XA EHE2GHIEX 336,445 446,931 A 110,486
OOt UHEXIAANE 2Z 336,445
308 AtXISHMSO0IH 94,440 89,440 5,000
01 HXSHHBAEES A,440 89,440 5,000
©&E oAbl F=It XI# 94,440
OtsZAIESAIE 29 838,960 1,001,272 A162,312
307 2I2+01 ™ 838,960 1,001,272 A162,312
10 AlSISXAEEER2IGHIEX 838,960 1,001,272 A162,312
OOsSLANESAIE 2F 838,960
OtsEsdzla 28 X2 200,000 300,000 A100,000
307 2I12to| A 200,000 300,000 A100,000
10 AlBISXAIEHE2GHIEX 200,000 300,000 A 100,000
OOtsEsd2I|2 2gH| It XI# 200,000
YAots Y= KA (S1) 820,800 652,536 168,264
| 756,000
& 64,800
301 LEIENZ 820,800 0 820,800
| 756,000
& 64,800
01 AISIBEHLG62(2LEZ M) 820,800 0 820,800
0L A0ts 2w XA 820,800
| 756,000
< 64,800
k=2t 2% XA (=1) 2,671 1,064 1,607
| 2,460
< 21

- 463 -




[l
3
OF
uJ

-

HwE

2,671

2,671

15,200

15,200

15,200

A3,412

21,998

21,998

56,924
56,924
2,000
A2,000

A20,960
17,500

A2

dHEC
Ol &42H

25,410

77,884
22,500

7,000

7,000

64,733

Ofl &8

2,671

2,460

J|

21
2,671
2,671

2,460

H

Il

21
15,200
14,000

H

Il

H

1,200
15,200
14,000

Il

H

1,200
15,200
15,200
14,000

J|

H

1,200
21,998
20,261

Il

H

1,737
21,998
20,261

Il

H

1,737
21,998
21,998
20,261

Il

H

1,737
56,924
52,430

4,494
56,924
52,430

4,494
56,924
56,924
52,430

4,44

5,000

5,000

5,000

5,000

64,731
45,312

i

R

- SR1(3) - HIRAHY

29438

A
=

o
[uins

2|

t= Xl

i

o

2|

(=]
[uind

Xl

=

=
IS XAE 22

3

Ots It
307 2201

11 Ak

i

n
00
H
o
<0

Ho

JFE 2 E0f

- 464 -




od
3
oF
uJ

HwE

A2

YAV
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A e SN =SXEHD
M SAXBE SAXA
Ciel: OlSESAHIA K (el 28
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 3,000
01 ASIEEAGZ2(SREXZTHE) 10,000 0 10,000
O0tsEZ P&l K& 10,000
= 7,000
o= 3,000
LAAOlE BsH| K& (=21) 45,600 0 45,600
= 42,000
= 3,600
301 etENZ 45,600 0 45,600
= 42,000
= 3,600
01 ASIEEAGZ2(2RNEXTHE) 45,600 0 45,600
og2dUaols 2=l XN& 45,600
= 42,000
< 3,600
OrSZEXIAE X (=21) 2,218,477 2,721,556 503,079
= 2,043,334
& 175,143
308 AtXIHMSO0IH 2,218,477 2,721,556 503,079
= 2,043,334
& 175,143
01 AXSHNHBNEXRS 2,218,477 2,721,556 A503,079
OOtsLEXIAAAHE XA 2,218,477
= 2,043,334
< 175,143
CEAERE SgAtd2el(21) 4,146,886 4,118,609 28,277
= 3,857,568
== 289,318
308 AtXIHHMSO0IH 4,146,886 4,118,609 28,277
= 3,857,568
< 289,318
01 AXIHHMBAELS 4,146,886 4,118,609 28,277
O0ts SEAMEIA X 4,146,886
= 3,857,568
< 289,318
BSES0s MY XJA(21) 2,689,344 1,859,760 829,584
= 2,561,280
< 128,064
301 etz 2,689,344 0 2,689,344
= 2,561,280
== 128,064
01 AIBI2E X2 ([ RUEETHA) 2,689,344 0 2,689,344
OEs&=0ts AEs" K& 2,689,344
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A e SN =SXEHD
M SAXBE SAXA
thel: Ol SESAMHlA X (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 2,561,280
= 128,064
FAEXS0tE MHEXE(=1) 51,718 41,268 10,450
= 47,635
= 4,083
308 AXIHHISOIA 51,718 41,268 10,450
= 47,635
& 4,083
01 MXHHBSEXS 51,718 41,268 10,450
OZAEXNSOE NI 51,718
= 47,635
= 4,083
ots24 X& 1,020,000 887,800 132,200
301 EtEN S 1,020,000 0 1,020,000
02 MBI EEHLHS(FHAANS, NLHH) 1,020,000 0 1,020,000
oysts Ots34 1,020,000
250ts deety N2 368,620 279,270 79,350
301 Et2 NS 368,620 0 368,620
02 ABI2EHGS(FAAS, NLHS) 368,620 0 358,620
OES0ts dgord K& 358,620
2012 28 270,000 270,000 0
307 @120l & 270,000 270,000
10 Al SXAI 2B E2EHIEX 270,000 270,000
OZHI|& 2& 270,000
IHEIEXEH 29 706,348 705,776 572
307 gI2tol & 706,348 705,776 572
10 AlRIS XA EEE2EHI2 X 706,348 705,776 572
OHgAEXNALYH =29 706,348
HH2SIH(SANEHD) 163,227 61,070 102,157
= 58,412
= 104,815
Jl=38Hl 61,717 61,070 647
FA2E JI22H] 61,717 61,070 647
201 Zet=2a| 40,963 39,692 1,271
01 At 2telbl 40,963 39,692 1,271
A2 AR2tel] 40,963
202 Ol 9,234 9,918 aNGieZ3
01 =LA 9,234 9,918 684
FAMEE UL 9,234
203 R 11,520 11,460 60
01 J[2=2gd g =2t 6,600 6,600 0
o=% 6,600,000 6,600
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AR =112 SH T =XNRY
HI: AHSAAY| (SN )
Sl Jl=3 (e ®R)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
M EA2ELRFAH 4,920 4,860 60
©312! olaf 410,000~ 123 4,920
el 2d| 101,510 0 101,510
= 58,412
[ 43,098
SRS ae/AL 2E(2 D) 101,510 0 101,510
[ 58,412
[ 43,098
101 el2H] 101,510 0 101,510
[ 58,412
= 43,098
03 SRA(RIH) 222+ 101,510 0 101,510
(CRIIS= {0 RPN el Fala | 101,510
= 58,412
= 43,098
Wees(=SXEHY) 55,564,477 54,383,402 1,171,075
LIS HHKIZE 55,554,477 54,383,402 1,171,075
=2=0JI= XA 55,554,477 54,383,402 1,171,075
701 JIEtRI HSHES 55,554,477 54,383,402 1,171,075
O1 JIElRI AN ES 55,564,477 54,383,402 1,171,075
Qoza0II=SE3H HE= 55,564,477
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02849 =0ldt 2l2a

2
S
oy
H0
02
Jm
g
ton
x
Bl
pnll

SN SXRHY
MM 20| ZMESH

cel: 2220012 2E(ARSHIIS2LSESH)

SA - B - B9I(B0) - NISAIY - BAS Ofl ko i fimE==t

SXZ D 384,718,000 376,833,000 7,885,000
= 304,456,448
& 80,261,552

e ESEN = SRSy 384,718,000 375,651,873 9,066,127
= 304,456,448
& 80,261,552

230012 I (220 II22IEEIAH) 384,718,000 375,651,873 9,066,127
= 304,456,448
& 80,261,552

230 A= AMEIA X2 (=21) 375,986,105 371,330,772 4,655,333
= 300,788,036
= 75,198,069

201 Ler23AH| 780,5% 780,59% 0
= 624,476
= 156,119

01 AtR2telt| 780,5% 780,59% 0
ORE - A== 780,59
= 624,476
< 156,119

403 XXM S K=201H 375,205,510 370,550,177 4,655,333
= 300, 163,560
& 75,041,950

02 I 2SHHEX2X AEAFS Y| 375,205,510 370,550,177 4,655,333
ozt WEZ3 375,205,510
= 300, 163,560
= 75,041,950

=0 AUXNHMABAEZ (=) (AZ) 4,211,3% 3,915,317 296,079
= 3,563,712
o= 647,684

301 LEtENZ 3,694,412 0 3,694,412
= 3,126,872
& 567,540

01 ARSI 2EH2HZ([REETHA) 3,694,412 0 3,6%4,412
o=0 R =3 94,510
= 79,990
& 14,520
ORYH| & HFOUISEII| AAXA 2,445,472
= 2,070,902
= 374,570
o=¢0 B 2oz 132,470
= 112,090
& 20,380
OHZME R 1,021,960
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SN SXRMY
Ha: ROD|ZMEE

Ciol: 02201012 2g(AR30I22Y=E ) (ot 2g)
SA - B - B9I(B0) - NISAIY - BAS Ofl ko i fimE==t
= 863,890
& 158,070
308 XXM SO & 516,984 3,915,317 3,398,333
= 436,840
= 80,144
01 IXESHNHBLEES 516,984 3,915,317 A\3,398,333
QMO Z2 20 A 516,984
= 436,840
== 80,144
2SR F=X(=21) 205,730 205,784 A4
= 104,700
& 101,030
201 B2 AY| 10,000 10,000
01 AtR2eltl 6,000 6,000
02=z320 Ler2y 6,000
03 &A+2EH| 4,000 4,000 0
Qo zs0&CIA HRU= 4,000
202 O4b| 12,230 12,230
01 =WHHHI 12,230 12,230
QA== F&H 12,230
308 AXIHMSOIA 183,500 183,554 A4
= 104,700
& 78,800
01 HXESHNBLEERS 183,500 183,554 A4
od¢dEZHl XI& 183,500
= 104,700
< 78,800
olz=0 Atdlztel 196,000 200,000 24,000
201 LEr2AH| 16,000 20,000 24,000
01 AtS2telt| 16,000 20,000 A4,000
OMIIZSHAIE 2 16,000
308 AXIHMSOIA 90,000 90,000
01 AXESHNBAEEXS 90,000 90,000
OMIIZSHAIE 22| X 90,000
403 XX SHHMSKZ01H 90,000 90,000
01 XIXISHHA=2E X 90,000 90,000
OJIsELME XA 90,000
ollgl bl 4,118,769 4,118,769
801 GilHldl 4,118,769 4,118,769
01 LEHoidIbl 4,118,769 4,118,769
ool 4,118,769




